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Answering Question.
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1. The scope of statistical survey depends on
(A) the objective.
(B) availability of time.

(C) resources.
.\(ydn of the above

2. Data are generally obtained from
(A) primary resources.
(B) secondary resources.
(¢4 Both of the above
(D) None of the above

3. When the population under investigation is
infinite, we should use the

sample method.

(

(B) census method.

(C) either census or sample method
(

D) None of the above

4. Sampling error are present only in
(A) complete enumeration survey.
(By sample survey.
(C) Both of the above
(D) None of the above

5. Non-sampling error include—
(A) bias
(B) mistake
(CY Both of the above
(D) None of the above
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6. In chronological classification, data are
classified on the basis of

(A) class interual
(B) attributes

\}Q’ time

(D) location

7. Geographical classification means
classification of data according to

(A) ume
(B) attribute

Mucation

(D) class interuals

8. The mid-point of a class is obtained
(A) by adding upper and lower-limits.
(B) by deducting lower limit from upper.

(C) by dividing the difference of upper
and lower limits by 2.

My adding upper and lower limits and
dividing it by 2.

9. Diagram and graphs are tools of
(A) collection of data
(B) analysis

\y/presemation

(D) summarisation

10. Which one of the following is false?
(A) Nominal and ordinal scale are
qualitative or categorical data.
(B) Interual and ratio scale are
quantitative or numerical data.

(C) All properties of measurements holds
together in ratio scale.

yNunc of the above
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11. The sum of the deviations of individual
observations is zero from

(A) Mode

(B) Median
mcan

(D) None of the above

12. Which is affected most by extreme
observations?

Mcan
(B) Median
(C) Mode

(D) None of the above

13. The measure of variation which is least
affected by extreme observations is

(A) Range.
(B) Mean deviation.

() 5.0;
P QD.

14. The co-efficient of correlation
(A) hasno limit
(B) =1
() =1

Mﬁries between (—1) and (+1)

15. The ranks according to two attributes in a
sample are given below;

Ryt 1 2 3 4 5

R;: 5 4 3 2 1

The rank correlation between them is:
(A) 1

(B) 0

BT D)

(D) None of the above

(4)

16. There will be only one straight line in case
of two variables if;

(A) r=0
fB) r=4+1
(€C) r=-1

\}Bf :‘:+10r—f.l

17. In linear trend equation; ¥ = a + bx; when
b is positive indicates that:
(A) declining trend

\}Bﬂ_/rising trend

(C) No trend

(D) None of the above

18. If an event can’t take place, the probability
will be—

(A) +1
(B) -1
JEro

(D) None of the above

19. 5C; is equal to—
(A) 20
(Br 10
(C) 1000
(D) 0

20. Large sample theory is applicable when—

WN > 30

(B) N<30
(C) N=30
(D) None of the above



21. In forecasting

(A) only future course of events are
important.

only past course of events are
important.

(C) Neither future nor past is important.
(D) Both past and future are important.

22. Statistical forecasts turn out to be—
(A) 100%
(B) 90%
(C) 50%
Mdepends on each individual case.

23. The no. of all pairable samples of size 2
from a proper of 4 units is

(A) 2
(B) 4
JET 6

(D) None of the above

24. Which of the following component of time
series can’t be eliminated?
(A) Regular component
andom error
(C) Cyclical fluctuation
(D) Seasonal variation

25, One Kilo bytes =
(A) 1000 bytes

(B) 1084 bytes
1024 bytes

(D) 1032 bytes
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26. The height of an histogram represents the
(A) class interual
(B) class frequency

\}Qj/ﬁ'equcncy density

(D) probability

27. The sum of squares of the deviations will
be minimum from—

(
(B) median

(C) mode

(D) None of the above

7 mean

28. Absolute sum of the deviations is minimum
from—

(A) Mean
,\}B‘f Median
(C} Mode

(D) SD

29. When S is the sample space and A is an
event of S then AUA—
(A) >8S
(B) <S

NZgh

(D) None ol the above

30. AcB=>
(A) P(A)=P(B)
(B) P(A)>P(B)

2T P (A) <P (B)

(D) P(A)=P(B)
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31. We study sample instead of population to
save

(A) money

(B) time

(C) man power
VAI] of the above

32. What is the main role of research in
education?

(A) To upsurge one’s social status
(B) To increase one’s job prospects
(C) To augment one's personal growth

(Dy" To help an applicant in becoming a
better educationalist

33. How is random sampling helpful?
(A) Reasonably accurate

(B) An economical method of data
collection

(C) Free-from personal biases

WAII of the above

34. In order to persue the rescarch which of
the following is primely required?
(A) Developing a research design
,\}B’]/Fomm]ating a research question
(C) Deciding about the data analysis
procedure

(D) Formulating a research hypothesis

35. The format of thesis writing is same as in
(A) writing of seminar representation.
(B) preparation of research paper/article.
\g?)/a research dissertation.
(D) presenting a workshop/conference
paper.

36. Which one of the following statement is
true in the context of testing of hypothesis?

(A) It is only the alternative hypothesis
that can be tested.

(BY It is only the null hypothesis that can
be tested.

(C) Both can be tested

(D) Neither of them can be tested

37. What are the condition in which type I error
ocecurs?
(A) The null hypothesis is accepted even
it is false.
(B The null hypothesis is rejected even
it is true.
(C) Both the null and alternative
hypothesis is rejected.
(D) The alternative hypothesis is rejected
even it is true.

38. Evaluation research is concerned with—
Mw well are we doing.
(B) why are we doing.

(C) what are we doing.
(D) None of the above

39. Power of a test is (o = type I error,
B = type Il error).

(A) -«
B 1P
(C) p-o
(D) a-P

40. If type-I error decreases, type-1I error
generally—

Wncreases

(B) decreases

(C) remains constant
(D) None of the above



